Name: _____________________________________________ Period: ___________________


Simple Machines Review
Definition Match up

	1.  __ Effort Force
	a.  Force that is applied to the object

	2.  __ Resistant Force
	b.  Another word for Leverage

	3.  __ Work
	c.  The pivot for a lever.

	4.  __ Effort
	d.  Force x Distance

	5.  __ Mechanical Advantage
	e.  Force that you apply to the simple machine

	6.  __ Fulcrum
	f.  Describes the Effort force


Questions:

1. According to the diagram below, what happens to the amount of effort I would need to apply if I moved the fulcrum back?
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2. Identify the following terms on the diagram below: effort arm (Ea), Resistant arm (Ra), Effort force (Ef), and Resistant force (Rf).
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3. Calculate how much work (force x distance) is done on both sides of the lever.  



4. According to the previous question, what was increased on the effort side? ___________
5. According to the previous question, what was decreased on the effort side? ___________
6. How does this relate to the concept of work = work on both sides of the fulcrum?
7. How does the length of the handles on a set of pliers affect mechanical advantage?
8. On the ramp diagram, if I were to increase the height of the ramp, how would that affect the amount of work I would have to do?

9. If all the given masses are equal, which of these levers would have the greatest mechanical advantage?






10. Four levers were built and tested by lifting a large mass which required 4N to move.  The effort needed for each is listed here:      

a. Lever A = 0.5 N

b. Lever B = 1 N

c. Lever C = 2 N

d. Lever D = 4 N

Which lever had the greatest mechanical advantage?

11. What would the mechanical advantage of a pulley be if the Resistant force was 12 N and an Effort force of 3 N?

12. Identify the fulcrum point and where the Effort and Resistant forces are.


13. Which pair of scissors has less mechanical advantage?  Why?


14. Trick Question: which following machine did more work on the object?





15. Calculate the mechanical advantages for the following levers: 

	Lever #
	Effort Length
	Resistant Length
	Mechanical Advantage
	Draw a triangle where the fulcrum would be:

	1
	20 cm
	4 cm
	
	 Effort              Resistant   

	2
	15 cm
	5 cm
	
	 Effort              Resistant   

	3
	5 cm
	10 cm
	
	 Effort              Resistant   

	4
	100 cm
	25 cm
	
	 Effort              Resistant


16. Which lever above in question 15 had the most mechanical advantage?

17. Which lever above in question 15 has the longest effort arm?

18. What do you notice about the relationship about the effort arm and the mechanical advantage?

19. As you examine question 15, what is the independent variable?  (what was changed by the person)

20. As you examine question 15, what is the dependent variable?  (what changed as a result of the change?)

Work = Work
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